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INSTRUCTIONS TO CANDIDATES
Read the following instructions carefully before
you open the Question Booklet

1,

A separate OMR Answer Sheet is supplied
for writing the answers. Write down your
Application Form No. & 11 digit Roll
Number on it as per your Admission Card
and darken the appropriate circles on the
answer sheet.

Check that Set Code (A, B, C or D) is printed
on the Booklet and indicate your set code
by blackening the appropriate circle in the
OMR Answer Sheet.

Do not write anything in this Booklet except
the 11 digit Roll No. However you can use
the blank pages provided for the rough work
at the end of this Booklet.

Start answering when you are told to do so.
Do not turn the pages before that.

Answer all the questions. Each question has
four probable answers of which one is
correct. You have to choose the correct one
and blacken your choice in the OMR Answer
Sheet by a black/blue ball point pen. Use of
pencil is not allowed. If your choice is second
response then answer like this.

O JORG)

For wrong answer, there is no deduction of
marks. One mark shall be awarded for each
correct response.

No mark will be awarded for a question
if a candidate darkens more than one
choice.

Return the Answer Sheet only to the
invigilator as soon as the final bell rings.
English version of the Question Paper will
be considered as final if any dispute arises
in the translated version.
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Directions for question number 1 to 2 :

Choose the alternative which closely resembles the
water-image of the given combination.

1. VAYU8436
(A)  AVAN8AEY (B) Avmse/
(©)  AvAN8¢39 (D)  AvAngtee
2. Acousndit()ﬂa 1l1C
(A) woonsLc  (B) wvCoQZlLIC
(©) veconsic (D) wconeTic

Directions for question number 3 to 4 :

Find out from the four alternatives as to how the
pattern would appear when the transparent sheet is
folded at the dotted line.

3- KE
@ ® 9 o
4.
—J g /
T O

g9 Q%I 192 AR FERANIR :

CRTAIRT M) 6666 D2 QIR TCARFIER
R wree |

1. VAYU8436
(A)  AVANgIEQ (B) AVANgt3e
(C)  AVANS¢39 (D)  AvAngtee
2. ACOUSTIC
(A) wvoonsic  (B) vconalc
(©) wvconsic (D) vconeTic

g4l QI 3Q 4 AR FELANRT :

o~ e

W QIIR6R 60006 PEPG PGPFE JIR6R QleTasm
606 CR60R PRTAIRG AN 697 PR G168 /

3. KE
@  ® © O
4,
7V © D)
B-3



Directions for question number 5 to 7 :

In each of the questions, there are some words
translated from an artificial language. Study them
and answer the attached question.

5. aptaose means first base; eptaose means

second base; lartabuk means ballpark.
Which word could mean “bgsefall” ?

(A) buklarta )
(C) bukose (D) oseepta

oselarta

krekinblaf means work force; dritakrekin |
means goundwork; krekinalti means
workplace.

Which word comild/m&n “
(A) moropalti

(C) altiblaf (D) dritaalti
Plekapa\ki‘means fruitcake; pakisﬁillen means

cg‘kewalk; treftalan means buttercup.
Which word could mean ”cupc'g’kg” ?

(A) (B) leka
(©) (D) /alanpaki

shillenalan tr

pakitreft

Directions for question number 8 to 10 :

All the opposite faces of a big cube are colored with
red, black and green. After that it is cut into 64 small
equal cubes. then

.....

g4 QI 597 AN FERAR1 :

g66M G166 @8 8169 QA QISIGE ER61E GolaIRE |
JEIq IRMR &9 Qa6 GE0 QR €2/

aptaose G 2] first base; eptaose®) ¥l second
base; lartabuk @ 2 ballpark. 666@ 6@Gl
§12a 2¢ “baseball”?

(A)
(©)

buklarta oselarta

(B)

bukose (D) oseepta

krekinblaf © 2el work force; dritakrekin Q

2] goundwork; krekinalti means workplace

606@ 6@ §1RQ 2 “someplace”?

(B)
(D)

(A) moropalti krekindrita

(C) altiblaf dritaalti

Plekapaki Q ] fruitcake; pakishillen S el
cakewalk; treftalan @ 2] buttercup.Q 6669
6QE 6129 28 “cupcake”?

(A) (B)
(C) pakitreft (D)

shillenalan treftpleka

alanpaki

g4 8yl 8 Q 10 AIN FETANRT :

IR 06 ORe Pa0 agley AR, on 6 90 G5t
ORI 61’066 Ielg IR 646 AR TR 76 LG
66166....

6@6010 ARARE 6611 T QR 99° 2QN IR
i anl @Al I 689 ?

(A) 28
(C) 16

(B) 8

(D) 24

8. How many small cubes are there where
one face is green and other one is either
black or red ?

(A) (B) 8
(©) (D) 24
B-4
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9. How many small cubes are there whose 3
faces are coloured ?

(A) 24
(C) 16

10. How many small cubes are
no faces are coloured ?

(A) 0
(C) 16

Directions for question number 11 to 12 :

To which of the cubes in the alternatives can the
figure (X) result when folded ?

11. In which of the cubes can the figure (X)
result, when folded?

(A4)

& ¢ &

/B/
AEX

E

STM-1-2018-19

9. 6@66IT ARAR 6AIT Al TR ade ?

(A) 24
C) 16

(B) 4
(D) 8

10. 6@66IF ARURR 6RIEID AIF OFE Q6L ?

(A) 0
(C) 16

(B) 8
(D) 4

ge Q°sYl 11 Q 12 AIN FERSR1 :

(X) P60 QAR CaTARe Al 606 dReeE
629 ?

11.  (X) 9e0q ITasn QT FIRG ARG 6a6 dn
AP0 629 ?

(F)
Al (E)

—

(D)




12.

13.

14.

15.

=
T
)
B, ¥ ¥ W
( ® © O

In a family, the father took 1/4 of the cake
and he had 3 times as much as each of the
other members had. What is the total
number of member in the family ?

(A) 3 (B) 7

(C) 10 (D) 12

In a certain code ‘LATE’ is written as
‘$%#@ and ‘WIDE” is written as *©A@’.
Then how ‘DIAL" will be coded?

L&/
(A) A@#$

(B) A@%$

(D) A©%#

If ‘SCOTLAND is written as ‘{2343678’,
LOAN is written as ‘8124" and DAN is
written as ‘537, then what will be the
code for 'C' ?

12.

13.

14.

15,

P ®© ¥ &
@ ® © O

66T JRRIRNER QITI 631G 6@RR 1/4 216
¢IR6m | QI SlRZlel @@ PRI J66R IaM
¢lRflel Q@S 3 g6l | 666Q YRR 6MIALGHI
6Q66 ?

(A) 3

(C) 10

29 9@ AEFER QISIER ‘LATE’ @ $%#@
6mGIKN “WIDE"q. “*©A@'. 6melidid 66'6Q

" ‘DIAL’ | 60916 6RSIER |
(A) A@#$ (B) A@%$
(C) A©%$ (D) A©%#

98 ‘SCOTLAND’ @ ‘12345678’ 6QIf
6mSIE LOAN & ‘8124 6QIM MGl 8
DAN q ‘537 6QIR 6R&HIQIN 6660 'C’ § Q4!
6msl 629 ?

(A) 6

©) 5
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16. In a certain code language “Always
Create New Ideas’ is written as ‘ba ri sha
gi'. ‘Ideas and New Thought’ is written as
‘fa Pgﬁm 1i ‘Create Thought and Insight’
is written as ‘ki ri la fa’.

(A)

(©)
17. In a certairf code 2x3=56, 5x 6=1130,

8x9=1772, thenTx1= ?

(A) 54 (B) 45

(C) 55 (D) 44

sha

Directions for question number 18 to 20 :
Study the following pie-chart relating to the
proportion of population of seven villages and the
table relating to % of people below poverty line in
each village. Answer the following questions.

% population below
poverty line
X 38
52
42
51
49
46
58

Village

<HW0w=ANK

18. Find the population of village S if the
population of viflage X below poverty line

is 12160.
(A) 18500 (B) 20500
(C) 22008 (D) 26000

STM-1-2018-19

16.

17.

9@ AEFER QUBIER “Always Create New
Ideas’ @ ‘ba ri sha gi’ 6QIR 6REHIAIG| Ideas
and New thought @ ‘fa gi na ri’ 6QIR
EmElKd| ‘Create Thought and Insight’ @
‘kirila fa’ 691 6MGHICI | 698 A6FER QUTIER

IDEAS @ @61 6meleae |
(A) sha (B) ba
©) g (D) na

9@ 2x3=56,5x6=1130, 8x9=1772, 2,
666@ 4x1=?

(A) 54 (B) 45

(C) 55 (D) 44

g9 Q°34I 18 Q 20 AIN FERAYR1 :

IR §E060 7 6616 GIAR FRAGHY ERAIS @
66PR5E6 OB GIFIN Q10 TIFICRET 66RI0) SRIGTR
G651 ARG NEIR TRNIR @R GEPRR Q8%

25,

18.

% population below
poverty line
38
52
42
51
49
46
58

Village

< HWwHANKK X

26 ‘X’ GIFIR QIRGY AFIEEH 6RES! sRIaT
Ll 12160 29 6669 'S’ FIFR EAIGA NI
6@66 ?

(A) 18500 (B) 20500

(C) 22000 (D) 26000



19. The ratio of population of village T below
poverty line to that of village Z below

poverty line
(A) 11:21 (B) 23:21
(©) (D) 11:13

20. If the population of village R is 32000, then
what will be the population of village Y
below poverty line ?
(A) 156

(B) 16500

14200 18000

(©) (D)

Directions for question number 21 to 22 :

Select the figure which satisfies the same conditions
of placement of the dots as in Figure-(X).

21.

(X)

(A) (B) ( (D)
B-8

19. ‘T’ 87 QIF6Q QAQY QS @6R2Q!

ERAIRFA FRIYEA RIS 666 ?
(A) 11:21 (B) 23:21
(© 23:11 (D) 11:13

20. Q'R QIFIQEMINDSM 32000, 666Q Y QIFIER
QI0QY AFIEQG EEREIR ERIRTR L°6M 6@6E ?

(A) 15600 (B) 16500

(C) 14200 18000

(D)

g4 Qsl 21 Q 22 AIN FEXANRT :

e (X) 66 RGP 688 0GR QLS CeTAIRE
AN 606 PEFER PP AR JegIR SR
Q6N QLS ?

21. Poce

X)
CR=NZir=
(A) (B) ©) (D)

STM-1-2018-19
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©

Directions for question number 23 to 24 :

Select the alternative which represents three out of
the five alternative figures which when fitted into
each other would form a complete square.

@Nﬂwﬂﬂﬁ

1) \ (
@) 1.2 3) (B) (1), @), 5
© @) 6)6) D) 1), (2, @

2l & \\7 D [] &
(1) @ 6 @ 0©6
A) M. @ (B ()@ 06
© @), @), 03 D B

25. On dividing a number by 5, we get 3 as
remainder. What will the remainder when

the square of the number is divide by 57
(A) ©

© 2

STM-1-2018-19

22, @>

(X)

<@ &¥

(D)

(a) (B

g4 Q°314l 23 Q 24 AIN FERANR1 :

96640 gglea)5 6618 OaT FcM) 606 G6R1E PaTe
6RR I PEIo8E 6107 KoVElR ke, 6956 @18/

N /\\ ﬂ\ ﬂ ﬂ B
(1) (2) 3) 4) (5)

(A)

1). (). ()
© @ G) 6

(B) (1), (), (5
D) @), (2), @

AN D o N\
(1) (2) 3) (4) (5)

L (4) (1), @, @
© @), 3, 6

(B)
(D)

(3). (@), 5)
1), 3). (5

25. @ QoM 5 Q0 QITInEm 3 RUCIESIS Q6L | 68

LR QFG 5 QA AUTREM 6REE QUTESIS

0Ee ?
(A) 0 (B) 1
€ 2 (D) 4



Directions for question number 26 to 28 :

Look carefully at the sequence of symbols to find the
pattern. Select correct pattern.

gql eI 26 Q 28 AIR FELAIRT :
PeRPRn BFReIR SRR 950G JRElk OaF ¢8|

SIRAINOO00AIA 2
R ®) 8 8

(A) (B) ©) (D)

26.

A e

87, AN

A

O 1PREBI OIS

2Q B O &2
(A) (B) © (D)

28. SM|MZ|§Q|7

@) [ ® =
© {1 ) |

2. O AIACOIOAIA ?
e 2
(A) (B) (D)
27. OOD® IPRDIS?®
20 BO OB &2
@ ® © y/
28. Sc-o|c—-:Z|Sc-o|?
[ B) 3
© {I ® 4=
29. The product of two numbers is 1
the sum of their squares is 289.
the number is:
(A) 20
(C) 169
30. If 6th March, 2005 is Monday, what was
the day of the week on 6 arch, 2004 ?
(A) Sunday (B) Saturday
(C) Tuesda (D) Wednesday
B-10

29. QET QI YITR 120 8 AR TR
QAF 289, QY QRTR ANE 62QT -
(A) 20 (B) 23
(C) 169 (D) 100

30. Q% 2005 AALIQ AP 6QI1A% AN B9,
6069 2004 AR AT 6 Q1A 68Q AR
629 °?
(A) QPR (B) €91
(C) QTR (D) QIR

STM-1-2018-19



Directions for question number 31 to 33 :

There is a definite relationship between figures A
and B. Establish a similar relationship between
figures C and D by selecting a suitable figure from
the alternatives that would replace the question

g4 Q°§4l 31 Q 33 AIN FERANRT :

A @ B 96 FINM60) 6 PR 9816 881 C @ D A:466)
e G Q5190 PaToq G505 Pl ¢Ie/

STM-I1-2018-19

mark.
31. ‘://
= (( ?
@) @ (D)
(A) C/g (D) 4
32.
@ @ @ ?
N (A) (D)
O @ @)
(A) 1 J/Z 3 (D) 4
33.
& % Q|
(4) ©
= S@ G\
) @) ) @
A) 1 (B 2 YO\3 (D) 4

31.
= £rl
S '
@ ® © @O
(1) @ 6 @
A 1 (B 2 (© 3 (D) 4
32.
@ @ |&|
@  ® © (O
1) @) ® @
(A) 1. () 2 (C) 3 (D) 4
33.
k| =l G| 2
@ ® © @O
| D || Y || G\
1) @ 6 @
(A) 1 (B 2 (C) 3 (D) 4
B-11



Directions for question number 34 to 36 : g9l <°ciil 34 Q 36 AR FERAR :

Find out which of the answer figure completes the | P& 06 k) 606F 06 ARENTY 9°Qd 6 ?
figure matrix ?

34

O DR " TR

(A) (B) )&/ (D) ) (A) (B) ©) B}

35. 35.

(D)

E
C
B
Gl e8|
E
C
B

36. 36.

I 7] &

(A) (B) © (1) (A) (B) © (D)

B-12 STM-1-2018-19



Directions for question number 37 to 39 :

Identify the figure from the alternatives that
completes the pattern.

37.

38.

39.

STM-1-2018-19

gq Q°ayl 37 Q 39 AIN FELR :
666 OaT0 060y 998 PO 617 056 76/

37.

........

(A) (B) © (D)

38.

(A) (B) © (D)
39.

oy
L

(A) (B) © (D)



Directions for question number 40 to 42 :

Which alternative will replace the question mark ?

41.

42.

© 45 (D) 47
3 6 9
27 6 81

A) 45" (B) 41

© 32 (D) 40

"
/
10 16 15

12-(D)-15 12@-28 11@-23
9 20 16

A) 11 B) 14

© 10 D) 12

g4l QeI 40 Q 42 AIN FELEIIR :

606 PaT0 J508 IPq JRe] @06 2

40.

41.

42.

I T 5T
A28 A2 AR

(A) 35 (B) 37

(C) 45 (D) 47

(A) 45 (B) 41
(©) 32 (D) 40

10 16 15
12-@-15 12{;02-28 11{1?6}23
(A) 11 (B) 14
(C) 10 (D) 12

STM-1-2018-19



Directions for question number 43 to 45 :

Answer the questions by using the following

diagram.
M <—— School student
P|O [N «—— Actress
»
Q. |R
S <«——Singer
43. Which of the following represents those

44.

45,

school students who are singer but not

actress?
(A) M (B)
< ) O (Dy P

Which of the following represents those

actresses who are neither singer nor school
students ?

(A) N (B)

© Q (D)/ R

STM-1-2018-19

g9 QI 43 Q 45 AR FERENIR :

P8 068 aReMR 76 gePae Aae &8/
M <«—— School student
P|O ([N «—— Actress
Q |R
g <——Singer
43. 60 Q%0 YN 64 6QFIER BIQ 8 SIFR!

44.

45,

@] ANEAR1 QL6 ?

(A) M (B) N
© O (D) P

66 PR%% IS F62IR BRG] 210l YR BIOR.
QeI ?

(A) M (B) N

(D) R

6@6 IRFT YPIM 64 6FIEH 6aeR BREAS!;
dI9QI QLB @ 8IQ QL6 ?

(A) N (B) P

© Q (D) R



Directions for question number 46 to 48 :

Study the following diagram and answer the given
questions.

A Girls

[ | Boys

Athletic
{ Disciplined

46. How_r_nany boys are both athfetic and
disciplined ?
(A) 1 2
C) o6 (D) 10

47. How many girls are both athletic and
disciplined
(A) B) 3
(C) 8 (D) 2

48. How many poys are neither athletic nor

disciplined
(A) 1T (B) 6
c 3 (D) 2

Directions for question number 49 to 51 :

Choose the alternative which resembles the mirror
image of the given combination.

49. 247596 P ¥
(A) 695742 (B) epavrs
(C) <aveed ( deavhs
B-16

g4 QI 46 Q 48 AIQ FELNIR1 :
R 6] ERXMR @9 Jeltlena Gae &d/

10 7 A Girls

3 >2® 9 O Athletic
8 l:] Disciplined

46. 6A6ORS TP ARG 6SIRIR 6 SHFRE ?
(A) 1 (B) 2
) 6 (D) 10

47. 6@66R4 T2 QNS 6S1RIRT 8 SR ?
(A) 0 (B) 3
< 8 (D) 2
48. 6@REENSI QB 6LININ QLG @ GERE @ QLB ?
(A) 10 (B) 6
<€ 3 (D) 2

gq o1yl 49 @ 51 AIN FELAIIR :
RE] TCAIRR o0 Q@O0 CaTAIR FIg I8

49. 247596
(A) 695742 (B) eadavss
(C) <hvees (D) aeavhs

STM-1-2018-19



50. UTZFYBKH 50. UTZFY6KH
(A) HK9Y4SLN  (B) NIS3A (A) HKoYdsIn  (B) NLSIA9KH
(©) HKaAEs1IN (D) HAPFASTU | (€©) HKaAEsSLIN (D) HMX8YASTU
51. ANS43Q12 51. ANS43Q12
(A)  AMZrEOTS (B) OELSUA (A) AW2REONS (B) SIOEMSUA
(€) 2WAErOSH (D) rSOkeAME (C) 2WAErOSH (D) rsOMEAMR
Directions for question number 52 to 53 : 9§ QeI 52 Q 53 alg BecaIont -
For each question, a word is presented in a code | geeye 9666 Ia 99g AsTee QIN6E gals
language. Follow the same code and find the answer | oa/cyad 698 QISIER geeg gRale ( ?) Sarara
from the alternatives to replace the question mark. FRIG) Q86 G18 |
52. If BEAT : EHDW, then ROADZ(?) 52. <&@ BEAT : EHDW, 666@ ROAD : (?)
(A) SQCF URDG (A) SQCF (B) URDG
(C) TQCF (D) URNG (C) TQCF (D) URNG
53. If NUMBER : UNBMRE, then GHOST : (?) | 53. 4¢ NUMBER UNBMRE, 6€6@
GHOST : (?)
(A) GHSOT (B) GHOTS (A) GHSOT (B) GHOTS
(C) HGSOT (D) HGOST (C) HGSOT (D) HGOST
L /o G
., 0N G/
Directions for question number 54 to 57 : g4l Q°ail 54 Q 57 AIQ @EXalle@ ;. 3 /¢ '
= ot ~ Y <
Fill in the place of the question mark from the | G6/0'8 JPEIR QXTI FINHG) Q86 218/ o) 5
altematwe% Z
0
@ 9, 4. 5/??%5 13.5, 2, 101)25 54. 9,45,45,6.75,13.5, 2, 101.25 \i{)v?/tg
(A) 99.75 33.75 (A) 99.75 o (B) 33.75 =
~—
(C) 1335 (D) 40. (C) 135 (D) 40.5
55. ADbc, EHfg, ILjk, 2"\ ¢ 7, 55. ADbc, EHfg, ILjk, ?
(A) LOmn ( MPno (A) LOmn (B) MPno
(C) MNop (D) MPon ‘-.ﬂ:‘o (C) MNop (D) MPon
&5 23/
” é"ﬁ
STM-1-2018-19 o ,&/ o B-17
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Vi

56. ZXU, XVS, 2, TRO

’ r s " 56-
(A) VIQ \/B) TRQ
(C) VRQ (D) TVS

57. A4Z, D7W, ?, J19Q, M2 —57.
(A) E9U (B\—G12T
(C) HI2S (D) F11V

58. Arrange the given words in a meaningful | 58.

sequence and find the correct sequence
from the given alternatives.

(1) Rain (2) Monsoon
(3) Rescue (4) Flood
(5) Shelter

@) W@ 6), @ )

® ). Q. @ 6.0 \/
). @), 0). 6)
)

(

© @ Q0

(D) @), (1), ), 6) )

Directions for question number 59 to 62 :

Study the figure given below carefully and answer
the questions.

59. What is the sum of the numbers which
belong to two geometrical figures only ?

(A) 6 (BL-10
© 20 (D) 30

B -18

59.

ZXU, XVS, 2, TRO
(A) VTQ (B) TRQ
(©) VRQ (D) TVS

A4Z, D7W, 2, J19Q, M28N
(A) E9U (B) GI12T
(C) HI128 (D) F11V

A fRgeq 2dgd arsa JRIR FQFIRT
FRlg) A0R aFeq I8 | \

1) esl ) 66lgenQIg
B) e’ (4 oy
() Ellﬂﬂgﬁ‘

(a) 1), @), 3) @) 6
®) 1), @) @), 6) 6)
© @ @) @ 606
(D) @), @), ), () 6

g4ql QS 59 Q 62 QIR FELFIIR1 :

RE6R PCIAIRIR) R0 kIR 77 G8gPne Q86
ea/

6QR @R QUAGR TR6a &l LM
AR 666 ?

(A) 6 (B) 10
(C) 20 30

STM-I-2018-19
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60. If numbers in the circle repregént women,
then how many women ar¢ there ?

(A) 20 (
(C) 28

61. the numbers which

62. numbers which

105

Directions for question number 63 to 65 :

In each of the following questions, three statements

are given followed by four conclusions numbered (1),

(1), (III) and (IV). You have to take the given

statements to be true and then decide which of the

given conclusions logically follow from the given
statements.

63. Statements : S A¢
Som?ﬂggs arerafs. Allratsare trees. Some
trees are not dogs.

Conclusion ‘F
AI) Some trees afe dogs.

(I)  All dogs are trees:

(IIT) All rats are dogs.< ’
(IV) No tree is dog @
(A) None follows .

(B) Only (I) follows
(C) Only (I) and (II) follow
(D) Only (II) and (III) follow

STM-1-2018-19

60. 20 QR FRIYES 2RI retige FRAIFING s,
606Q AFQI 6REERE FERI 28E ?

(A) 20 (B) 45
(C) 28 (D) 33

61. 6@OR G6RAIT QUATE TR QI A IYFRR

YSITR 6@66 ?
(A) 27 (B) 162
(C) 648 (D) 54

62. 6@eR QRF QYAGR 9R6a 2ol L HIYPAR

YEITR 6Q66 ?
(A) 64 (B) 192
(C) 384 (D) 105

g4l Q°siil 63 Q 65 AN FEXBIIRT :

g66a ggl6a 91 66116 Qe 986 & 6616 IR (1), (10),
(1), B (V) Qallae | APge 0 66 ARG,
PRTAIRT FIMNG) P IRETe I8/

63. Q8: @8 Qg0 8l 266 | 9Q FBIFIER 08 26 |
@@ o' Qa9 QLE |

daie:

() @8 ceqan AT
(1) <9 Qa9 2ee|
() <R A8 YRR 2SS |
(IV) 6QISE o8 G0 Q6E |
(A) @8 Q8le 0@ Q6L |
(B) 6@er (I) 98Ie Oal
(C) 6@ (I) 8 (1) Jeie O/
(D) 6@ (II) 8 (1) 816 O



Gl

Statements :

Some tigers are lions. Some lions are
rabbits. Some rabbits are horses.

Conclusion :

64.
(I)
(1)
(I1I)
(V)
(A)
&)
(©
(D)

65.

Some trains are roads. No road is jung

Conclusion :

@
(I)
(III)
(Iv)
(A)
(B)
(©)

(D)

Some tigers are horses .4
Some rabbits are tigers y
Some horses are ]jons")
All horses are rabbits
All follow

None follows

Only (I) and (II) follow

Only (IT)and (IV) follow

Statements :

Some trains are flowers

Some trains are jungles

Some flowers are V
No road is flowe

None follows

Only (II) follows

Only (III) follows

Only (IV) follow

64.

65.

O : Qf QY T2 2e'T | @@ T°e 6042 AT |
@8 602 6@ 2G|

dais:

(©)
(D)

Q: @8 60m SIZI 266 | a8 Il AErR Q6|

@R QId 6QQ 265 |

@R 602 Q1A 265 |

@R 691 &2 2G|

e 6ag1 60Q2 266 |

e 3918 OR |

@8 JeIe 0@ Q6L |

6aQR (I) 8 (1) daIe OR |

6@QR (I) B (1IV) 9818 0a

e

A INYGR AR |

dals:

@8 60R IR 268 |
@B 607 Germ 2B |
@R I 69 266 |
6@I61Q Q1Y M Q6L
@8 986 O/ Q6|
s@em (1) d81e Ox
s (1) A8 O

s@eR (IV) AsIe Ol
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66. A child went 90m in the East to look for | 66.

his father, then he turned right and went
20m. After this he turned right and after
going 30m he reached to his uncle’s house.
His father was not there. From there he |

went 100m to his north and met his fa i
How far did he meet his father {pdm the
starting point ?

(A) 80m

(C) 140m (D)

67. A clock is set right at 4 A.
The clock loses 20 minytés in 24 hours.
What will be the coyrect time when the

clock indicates 3 . on Wednesday ?

(A) 4 AM (B) 5 AM

(C) 2AM (D) 4.30 AM

68. Maya starts at point ‘T, walks strait to | 68.

point ‘U’ which is 4 meters away. She turns
left at 90° and walks to ‘W’ which is
4 meters away turns 90° right and goes
3 meters to ‘P’, turns 90° right and walks
1 meter to ‘QY’, turns left at 90° and goes to
V" which is 1 meter away and once again
turns 90° right and goes to ‘R which is
3 meter away. What is the distance
between ‘T" and ‘R’ ?

(A) 4 meter

(C) 7 meter

STM-1-2018-19

on Sunday. | 67.

@661 ARl ©1'Q QI 6HFAITIE ge] 90Feq A
@ 69016, 20A5Q Q118G SIRI | 69016 Q& \\ %
QI2I61q 30A¢Q LIn ARIF U6Q JLE QA “"95
deRl A1 6906 100F60 0] JIR IS, 4:‘}
sesianl | 2aA PG 6A66 QREA SI6 QDI

605! 62l ? pla
‘a‘v

(A) 80m (B) 100m

(C) 140m (D) 260m

64150 QA 24 WRIER 20 ARG AR FIGA |
QPRI GF 66IA 46160 YLITG 0@ AFAER
QBT | 666@ RIFIA GF FAITER 6QIR 36
QPR 6RGIREM, YRS IFI% 6Q66 62N ?

(A) 4 AM (B) 5AM

(C) 2AM (D) 4.30 AM

Al ‘T gae) 2I0A @6 QI 4 Aeq U adie
IRl 69Q0Ig) @IFIg 90° QR 4 AgQ ‘W’ aale
SRl 62015 90° QIeIsIg @A ‘P’ aole 3 Aeq
SRl 8 981 g1a181R 90° 9 1869 ‘Q’ iy aIRl |
g8l QlIFig 90° @M 1 Aeq ‘v’ aale amll
641960 Q1R1S1G 90° QA 3 FAgq ‘R’ aaie ol |
‘T B'R’ FRIH6Q Q001 666 ?

(B) 58ea

(D) 8 fAgq



69.

70.

L
y"’un Lro.eq

282 ..,

B-22

1060O->\_

l(‘).q
=

(‘2;0
I\D
%

\ , ,;{) -
<o L
A clock is started at noon. By 10 minutes
past 5 PM on the same day, the hour hand

has turned through :

(A) 145° B) 150°

(C) 1%85° (D) 160°

a

0 T

If A X B means A is to the south of B; A+ B
means A is to the north of B; A% B means
A is to the east of B; A—B means A is to
the west of B; then in P% Q+R—S5, Sis in
which direction with respect to Q ?

(A) South-West (B) Sowu{}fEast

(C) North-East (D) North-West

Q
s 5
e

A watch gains 5 seconds in 3 minutes and
was set right at 8 AM. What time will it
show at 10 PM on the same day ?

(A) 10:27:41PM
(B) 8:51:04 AM
(C) 9:45:15PM
20 PM

(D) 10:23:

o)
l\l -;L?Ja
g

69.

70.

o

OQ FRUIGER I8 A9I PIRG! 2I0A ARl | 6e8E
200Ig 5 A9l 109R5 T @91 666 4l

6@I61 26QF QGe ?
(A) 145° (B) 150°
(C) 155° (D) 160°

9@ A x B @ 2 A,B Q @86 @560 2ege;
A +BQ 2 A, BQ Qe a96a 2ege; A%B
Q 2 A, B Q 90 @06Q 20ge; A—B Q 2
A, B 08F1 @06Q 2ge; 666 P% Q+R—S
681S, Q O 6@6 GTI6R @R ?

(A) @3&-o8 (B) QB&-ge

(C) @e9-9e (D) QaQ-TJF

601N Qg 3 FRGER 5 6I6S TR QIEM KILle.
Rl 89169 O, AFS QAIGIHI| 68 Gr QIS
109169 QEITE0 6@66 AFIL, 621RE)Q ?

(A) 10:27:41PM
(B) 8:51:04 AM
(C) 9:45:15PM

'\090?%%3
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Directions for question number 72 to 75 :

Each of the questions below consists of a question
and two statements numbered (1) and (II) given
below it. You have to decide whether the data
provided in the statements are sufficient to answer
the question by selecting from the following options.

(1)  (I) alone is sufficient while (II) alone is not
sufficient

(2)  (II) alone is sufficient while (I) alone is not
sufficient

(3)  Either (I) or (II) is sufficient —)

's

(4) Neither (I) nor (II) is sufficient Q(/
70,

~+
72. Howis X related to Y ? _(__K_,\

o)
() Y and Z are ghildren otgb who is

wife of X. .
(II) R’s sister X is married to Y's father
(A) 1 ¢ (B) 2
© 3 (D) 4

73. How many doctors are practicing in this
town ?

(). There is one doctor per seven
hundred residents.

(I) There are 16 wards with each ward
having as many doctors as the

number of wards.
A) 1 \M

(C) 3

STM-1-2018-19

g4 oyl 72Q 75 IR F6RANR :

P66 9664 Gee6R QRE Ae1E (1) B (IT) 621k P8/
gesn PRI CeHg PeIRas AR QSR 6%
P8a60 90 PRy 018/

(1) 6QeR (I) J62i8, @5 6aen (IT) J6e% Q6L

(2) 6@eR (II) J68%, @5 60 (I) 0628 Q64|

@) ()& (M) 6686 62 |

4) () @A (1) 602 6eS Q6L |

72. X QY 926 986 @dl?

(I Y8Z, Do dm e 8 DXaNAE |

) RIVQGENX,Y F0 QA I12 /88 |
(A) 1 B 2
© 3 (D) 4

73. QRAGER 6REERS GIBQ RIFl KRS ?

(I) <QLeQATER 700 6AIGF Clel @68l G
2RE |

@) <WAEER 16 ATLE 8 AR M 696

g6 Q60 696@ @61 CIDA 28T |
(A) 1 (B) 2
(C 3 (D) 4



74.

75.

Directions for question number 76 to 79 :

For each question, a word is presented in a code
language. Follow the same code and find the answer
from the alternatives.

76.

R

<

Among T.V.B.E and G, who is the third |
from the to'p' when arranged in the
descending order of their weights ?

(I)  Bis heavier than T and C and is less

heavy than V who is not the

heaviest.
(II)  C is heayfer than only T.

(A) 1

© 3 D) 4 XX S

A, B and C have money with them
respectively in the ratio of 5 : 4 : 1 then,
how much money does B have ?

(I) A has T 48 more than C.

(II) The money with B is ¥ 30 less

than A.
(A) 1 )
~ o
© 3 ﬁ o4
R4 e

If FRIEND is coded as HUMJTK, how is

CANDLE written in that.ecde ?
€ DR_

(B) DCQHQK

(C) ESJFME (D) DEQJQM

B-24

74. T.V.BE B C q 627 Be0 2RI6H 28a%)
@F BF6Q IRIFER, 018 YRR @4 QRS ?

() BQGBee TG C O ada @g V 0l
@l V 9A19e 0 2@ Bae Q6L |

(I) Ce@eR T Olg) AR BaR |

75. A, BB C@ dI6i6a &9l o'FIQ AR IR6E
5:4:1. 6669 B dIgEQ 6066 o'@ 2@ ?

() A QIGI6R C 0I6) 48 O 2R 2 |

(I) B QIGER A 0I5} 30 9« @F| 2R |

(A) 1 (B) 2

(C) 3 (D) 4

gl Q¢ 76 79 AIR FEXEIIR :

geee ge6e Vo 01q Q6T0n Q/866 gals)
PVARE | 692 QISIEE) PTG Frlg) ge16°a age
ole/

76. 9@ FRIEND @ Q60069 HUMJTK 6QIf
EMECIY, 606Q 698 I6@e6Q CANDLE @ @4l

6REIDQ ?
(A) EDRIRL (B) DCQHQK
(C) ESJFME (D) DEQJQM

STM-1-2018-19



\ \

q | 1 a
N v 2 3 'V
X QL 3 \ g ./1, AU
\q)/q/ { 9’3 % \ A\
Y < : -~ ‘q

77.  In a certain coding language, n%(o =32 }77. @ A6FER QRI6R, 98 GO =32 8 SHE =49 o7t

& SHE =49 then SOME will be equal to/ 666Q 620 QIBIEA SOME = 6066 620 ? 6 n,

MY MM
(A) 56 (B) 58 (A) 56 (B) 58
(C) 62 (D) 64, (C) 62 (D) 64
E
\ \a
<) .

78. If ROSE is coded as 6821. CHAIR is coded | 78. HQ LE@6Q ROSE q 6821, CHAIR @ 73456

as 73456 and PREACH is coded as 961473, @ PREACH @ 961473 69IR 6RSICIN, 6669

what will be the code for SEARGH ? 60 I6RE6R SEARCH § @61 6R81e ?

(A) 246173 (B) 21 (A) 246173 (B) 214673

(C) 214763 (D) 216473 (C) 214763 (D) 216473

A\
Yl I
7/
’V\./\.
a certain code, ‘247" means ‘spread red | 79. 6 Q6@de WINAER 247" Q & ‘spread red

carpet’; ‘256" means ‘dust one carpet’ and
‘234’ means ‘one red carpet’. Which digit
in that code means “dust” ?

(A) 2 o 3

C) 5 //

Directions for question number 80 to 81 :

(D) 6

Select the number from the alternatives to fill up the
question mark(?) in the number series.

(©)

81.

N
7‘&’\61\9‘51110 2

(A) 5 ®)/ 11

© 29 () 4

STM-1-2018-19

carpet; ‘256" @ 2¢] ‘dust one carpet’ 8 ‘234
Q 2el ‘one red carpet’. 698 QITSH QG
e &l ‘dust’ ?

(B) 3
(D) 6

g4 QSi41 80 @ 81 gla“ PETBIRT :
giog Jreo OaT AR@AE) 90k IS Ce/

80. 1,3,2,6,3,11,4,18,5,?
(A) 27 (B) 11
(C) 23 (D) 29

81. 7,9,8,6,10,9,5,11, 10, ?, 12
(A) 5 (B) 11
(C) 29 (D) 4



82.

83.

84.

Count the number of triangles and squares
in the given figure.

(A)
(B)
©)
(D)

26 triangles, 5 squares
28 triangles, 5 squares
26 triangles, 6 squares

28 triangles, 6 squares

In the adjoining figure, if the centers of all
the circles are joined by horizontal and
vertical lines, then find the number of
squares that can be formed.

(A) 6

(B) 7

(C)/8 (D) 1

How many parallelograms are there in the
following figure ?

/7 7/
[ 7777

(C) 29

0
(D) / 30

B -26

82.

83.

84.

a2 Dinael 8560 890 6 94QR T GER!
qql

(A) 26 Q9R, 50G9R
(B)
(©)

(D)

28 HQR, 5 PR
26 GQR, 6 PLYR
28 GQ%, 6 069

5969 ASIDIR 08 JERA 6RGILAING A0S '
AA 6 AREFAR AAREAE FAIRFRIR BFIRAE
reLlel @6M 698 §064 6a66IT Qcl6aR g8
QgIal @al

(A) 6
() 8

(B) 7
(D) 1

571 §669 6a66I0 AFBARECTES 28 ?

HH -

(A) 12 20

(C) 29 (D) 30

STM-1-2018-19



85.

86.

87.

STM-1-2018-19 w. /)

Based on the given positions of the dice
find out which number is opposite to 3.

(A) 1

©)

Based on the given positions of the dice
find out which number is opposite to 2.

Based on the given positions of the dice
find the number of dots on the face opposite
to the face with one dot.

0@0 %

(i) (i) (iii)

(A) 2

© 4 (D) 6

85.

86.

87.

REEEITR GRINIRZR 20gPq F0I0aa 3
RUAIE 66 66Q "ol 28 Fda aa

W &

(A) 1 (B) 6
© 5 (D) 4

AR QRAARER 2eYeq FI0aa 2
QTS I6C 606 SN 28 Hda aq |

© 3

REEEITR QUKL 2RY 6] FPIaa 6915
QLRI AIsia FARUE 65 6a66IE AR 28 Hda
Q|

Vg

(B) 3

(D) 6



Mg

Directions for question number 88 to 89 :

Fill in the blanks in the letter series.

88. xy_z_xxyx_px_yxzpryxzpx
(A) xp (B) yxyzx
€ yxzpx D) zyxpy
89. aab_aa_bbb_aaa_bbba
(A) abba baab
(C) aaab (D) abab

Directions for question number 90 to 93 :

Each of these questions is based on the information
given : 8 person E,F, G H,I ] KandL are seated
around a square table - two on each side. There are
3 ladies who are not seated next to each other. | is
between L and F. Q is between I and F. H, a lady
member is second to thé leftof |]. F, a male member

is seated opposite to E, a lady member. There is a
lady member between F and I.

90. How many persons are seated pétween K
and F ?
(A) 1 ) 2
© 3 (D) 4
91. Who among the following three lady
members ?
(A) E,Hand] (B). E,Fand G
(C) EHghdG ‘SD) C,Hand]
B-28 pe= val

gq Q°ail 88 Q 89 QIR FETEISR :
GeHRA6R Jel IR q6g Jael a6

88. xyAzpxXyXZprXWXZpX_YXIpX
(A) xpzxx (B) yxyzx
(€ yxzpx (D) zyxpy
89. aablaaabbbaaaahbbba
~ (A) abba (B) baab
(C) aaab (D) abab

99 Q°eiil 90 Q93 AN FRANIR :

w661 F1em @DE5 |

90. KGBF & AT60 6a66@81 988 ?

(B) 2
(D) 4

91. GIFIRT FRINES GRRE FERI 6QAFIER ?
(A) E HGJ (B) EFBG
(C) E,HBG 'Q/ (D) C, HEB]J
Gm/\’ A s
v STM-1-2018-19
\o X~
v \/‘ e v ’f

g66Me g 5] Yorlgen AEee 8‘/&#6?6’/5 E G H,

I, ], K GL AIF18 @61 48 \Ia @6llele) 66'gm6) G664
66" 9 0&16R61T 0T8R | 6P RN F61FIER!
0090 Pecsa 09 RRIG 1], L GF & AR ¢J88 [
G, 1 BF & 1560 @65 H, 666 @661 FIdm), | @6l
Q066 §61a gRee @8R I, 686 @661 g8 69E
e BRI Pane a6e @85 | F G1 & FIR60



92.

(4)
O

93.
(A)
(B)
(©)
(D)

G

B) 1
(D) H

What is true about | and K ?

] is male, K is female

] is female, K is male

Both are female

Both are male

Who among the following is to the
immediate left of E.?

Directions for question number 94 to 98 :

Which alternative will replace the question mark ?

94. P N\
T S
4% W7 15 <L 3 %/
] 10 | ? Pl
T (i
(A) 5 R/ 9
) 11 (D) 13
P
(A) 38 (B) 4
(©) 52 (D) 40
\@ 30 (10)
@3‘335 (35]27]25) (@5]2]60)
05 @ 20
(A) 36 (B) 32
(€ 30 (D) 60

STM-1-2018-19

92. 606QF @ 0@ QIFIee @4 9Jgs ?

(A) G (B) I

< ] (D) H
93. JBK @ 8460 606 09 Iy ?

(A) Y98 GK FRn)

(B) JFRRIBK s

(C) Qs Faal

(D) @R ges

94l Qi1 94 Q 98 QIR FERANIR1
9908 Y6 6a6 aTd ade ?
94,

i S e
W5 | 15D
310 | ? P
T G
(A) 5 (B) 9
© 1 (D) 13
®
= (o) &) G
(A) 38 (B) 4
(C) 52 (D) 40
(40) 30 (40)
96. (25]33[35) (35[27]25) (@5[? |60
& ¥
(A) 36 (B) 32
(C) 30 i (D) 60
Q)
6P W;’/
~41 (a

O&%ajt



A 67 5l
> % e 'vzc%l
7
(A) 5
© 8 (D) 9 - © 8 (D) 9
/]
t
Q% Rq QP
o, (PN '”fq ey e (PRA)
G T G
/13/
(A) 3 2 9 () 3 (B) 2
) 7 (D) 6 ) 7 (D) 6
99. If “+’ means ‘+’, “+’ means ‘—’, ' — 99. o+ QW ‘=, = QEJE]‘-',‘—'GI?JE]
means ‘X', ‘X’ means ‘+’, then %, "KW 9 ?3181 ‘47, 29 6069,
1246+3-2x8=7 1246+3—-2x8=7
@) - \/ ®) 2 @& -2 ® 2
(€ 4 (D) 8 € 4 (D) 8
A2
o )
100. If ‘+’ means ‘X', ‘X’ means ‘=, ‘=" | 100. g6+ aad ’x’,’x’@ﬂﬂ‘—’,‘+'6\88§
means ‘+’, ‘—' means '+, then ‘40— Qad +,89606@ 175-25 +
175 - ZW 54+20x3+10="
(A) 7 (B) 160 (A) 77 (B) 160
(C) 240 (D) 2370 (C) 240 (D) 2370
-00o0- -00o0-
'4'!5:@&.«‘)0
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Booklet

RollNo.:|2|2|1(9(t |a] <] U 2| Y sino: 69823

Time : 120 Minutes S 1120 ¢
Full Mark : 100 STS - 2018-19 gd el : 100
No. of items ~ : 100 PAPER -1 o EH : 100
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(including rough work) SET A -
INSTRUCTIONS TO CANDIDATES aouSlizier QIR FedsIoR!

Read the following instructions carefully before

you open the Question Booklet :

A separate OMR Answer Sheet is supplied
for writing the answers. Write down your
Application Form No. & 11 digit Roll
Number on it as per your Admission Card
and darken the appropriate circles on the
answer sheet.

2. Check that Set Code (A, B, C or D) is printed
on the Booklet and indicate your set code
by blackening the appropriate circle in the
OMR Answer Sheet.

3. Do not write anything in this Booklet except
the 11 digit Roll No. However you can use
the blank pages provided for the rough work
at the end of this Booklet.

4. Start answering when you are told to do so.
Do not turn the pages before that.

5. Answer all the questions. Each question has
four probable answers of which one is
correct. You have to choose the correct one
and blacken your choice in the OMR answer
sheet by a black/blue ball point pen. Use of
pencil is not allowed. If your choice is second
response then answer like this.

Of _JCOR®

6. For wrong answer, there is no deduction of
marks. One mark shall be awarded for each
correct response.

7. No mark will be awarded for a question
if a candidate darkens more than one
choice.

8. Return the Answer Sheet only to the
invigilator as soon as the final bell rings.

9. English version of the Question Paper will
be considered as final if any dispute arises
in the translated version.

g9 434 66INQI gaig) AELNIRRT G6q MRS Tf |

Q.

Qa9 6RYe A6 ¢844 2nsl OMR Q99 Qe
DUARE | 6226Q FIN AUPFTR RPN CMEHIEE!
Q0%lIY TE ARR 99° ISR BF PN 6QIR ARA
6RE! 96° QAN TUR AUYS 60I6ARE ARl @R |
QF1 g9 J3aI6R 64¢ 6Q1@ (A, B, C @Al D) &Rl
2R @ AT 218 QAR I6° QPR 694 6aIPY 756
@09 9ie (OMR) Q@9 TI6R AUYS 65I6RATE.
anl @l

69IM PR QYOI BARY @R 1@ YIRISR 6AS AIE|
78 AT QIF e e AITIRER AT, |IFl AATIA |
6U666R6R QRITe QAR 609Iq 2R A9 & Yes)
93 GER BRGIE AE

2F19 ZEI0 QR &2 | 9664R 8N I6RIT AU QAR
QAUARE | 622e) 66151 6268 OR @89 | O] ARNT
QI8 OMR Q9669 2| 69I6RATE. ARl a9 |
AR QR @ Q, INAYE 698 LI
QARAAIQI  6ARAA NeYIQ FRAIGS P11 AT
Q69 90l PAQ 6TIENRY TP QAA 69IR QI8
Ql2l 626@ YIQ !QQ|

®»@® 00D

6040 OR Qa9 d 9@ AR G2I8Q| QR aa9
R AR @918 AR

6618 ¢ QIR O 665G 2YR IR BRI
@8 eIgieesm 6alad raa Gaude AIF|

688 Q4§ QIFQl A8 6299 OMR QQQ UGS
ARG @2

BRI 2QQIe6a 6Rl6d QTR QN AV
QA90d1q AR 6QIR TSI

ASK FOR ANOTHER BOOKLET IF IT IS DEFECTIVE, BEFORE YOU START ANSWERING.
859 990 aRYsM QAR 607l §oq FeRIa B2 |

S
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A ballon starts rising upwards with
constant accleration "a’ and after "ty
seconds, a packet is dropped from it which
reaches the ground in"t’ seconds. The value
of 't is:

(A) ﬂ{l + 1+§jl

g a
ato /1,8
(B) = 1+a
.
aly| g |2
@ Zolf]
(D) —;-[tol

Three balls are projected with same speed.
Ball A is thrown vertically downward, ball
B is thrown vertically upward and ball C
is thrown horizontal, t,, tz, t- are
respective time taken by Balls A, B and C
to reach ground. Find the correct answer
from the following choices.

A

6PN U QES1 ‘a’ 66 QTR QORUG AN @Rl
90°'t, 696@8 J6Q @ HERS' SRS SIIM,
2l ‘t’ 66@8 T6Q MERT & GFIN 687l | t'Q
Ale 6268

at 1,8

(B) > 1+a

1

aly(g 2

© gu
(D) gito]

36 @9 IFIR 6QCI6R FESIT QUSRI @ ‘A’
q QARG onG. FESY @UTRI, @9 ‘B’ @
QRIARG QTG AT QUSRI 98° @9 'C'q.
QUAIBA LIEe PEBT QAUGRI| 98 t,, ty, t-
LeIREE A,B 9e° C diel IF14 FEG A 620
AR, 6669 F6F]S 606 ARG ORI

(C) te=ty—tp
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The velocity ~ time graph of a particle
moving along a straight line is shown.
What is the displacement of the particle in

6 second ?

5
(A) 10m (B) 14 m
(D) 20 m

4V 6V
A
—\NWV‘—I}—v—lI—ﬂNW‘——
410 B 120

E—T

40

In the circuit shown, potential difference
between A and B is :

(A) +4volt (B) —4volt
(C) —4.4 volt (D)  +4.4 volt

In the given circuit, what is the equivalent
resistance between A and B ?

20 20 2Q

100 10Q 130
A
30 2Q

(A) 10Q (B) 2Q

) 50 (D) 30

A-4

690 IB6 AR IR Ia ~ T QI
Qo6 62108 | 9260 AEIRIR I8 ARG 6ASIER 61F
QR | 28IRIa @Y AR 6 second 60 FQIE @A |

(A) 10m (B) 14m
(C) 12m (D) 20m

QUEAIB TR0 FRER A 99 B FRIER @Q4YEe:
QIR HOLE @l |

(A) +4volt (B) —4volt
(C) —44volt (D) +4.4 volt

A6FD TRdel 0R6Q A 1@° B FRIEQ RQYe
gEEN 6RE6 629 ?

20 20 20
100 100 =130
30 20
(A) 10 Q (B) 20
C 50 (D) 30
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The electrical properties of copper and

rubber are different because :

(A)

(B)

©)

(D)

The positive charges are free to move
in copper but stationary in rubber.

Many electrons are free to move in
copper but all electrons are bound
to molecules in rubber.

Positive charges are free to move in
rubber but stationary in copper.

Many electrons are free to move in
rubber but stationary in copper.

7.  Which of the following are true ?

(@)

(i)

(iid)

(iv)

(A)

©

A moving charge produces magnetic
field but no electric field.

A moving charge experiences force
in magnetic field but not in electric
field.

Magnetic field inside solenoid is
uniform.

Magnetic field lines are always
closed.
(i) and (iv) (B) (iii) and (iv)

(1) and (i) (D) (i) and (iv)

STS-11-2018-19

Al 48" Q9AA 6346 YRS BAGI, FIRE!:-

(A)

(B)

©)

(D)

oAl £9 61d 9Q AR AIES 6 @05 @Y.
QRAER 6AFIER Ja

GAIER L0 PEARTR AR QISR GIF
@08, @6 APACR QACRATAFIER
2SN <L 2RRE

29 9ld A9 AR AR AG SRR
2RDE

QRER 9LE RENATA R &G AR
2ede

F6F]D FIIG) 6R60 R

()

(@

(iti)

(iv)

(A)

(©)

1@ GIR6TIR QI QAR1IA 688 U6 R6R @],
62QeR 69¢ 9L @EQRE|

@ SIE6NR G160 QAR 6VR6R R 2REQ
@60 @] PQYe 6886R Q6L |
RS FIRIER I YAER SRR 688

AFRFISIER 2RQE |

SARIA 68 6991 66161 ZIRA GAl
6618 Q1T |

()€e° (iv)  (B) (iii) N9° (iv)
(i) 9Q° (iii) (D) (i) 99° (iv)

A-5



10.

A 500 W bulb and a 500 W heater operate
at their rated voltages. Which of the
following is true ?

(A) Filament of bulb reaches a much
higher temperature than heater
Filament of heater reaches a much
higher temperature than bulb

Both

ternperature

(B)

filament attain same

Nothing can be predicted.

KUAXXXAXXAXXXXX XX XX

!

1
XXX XX XX XXX
XAXXX XXX XX
l— ¢l > «—I—
X XXAAXXAXXXXXX XX XX

(i) (i) (1)

Each structure carries same current i, in a

X X X %X

transverse magnetic field. which is true ?
(A)
(B)
(©)
(D)

(i) and (ii) experience same force
(iii) experiences largest force

(i) experiences minimum force

Q1000000

all structure experience same force
A\"A A A A/

OConducting
ring
| e
E| -

The direction of current in the conducting

ring after the switch is closed for a long
time :
(A)
(B)
(©)
(D)

Clockwise

Anti Clockwise
No Current

Can’t be predicted

A-6

10.

9@ 500 @6 @RQ 99° 9& 500 @IS TeR AF
JRAFISIA TRY6. FNPER ZRE | FEE)ID F1RIG)
6@as O |

(A) QREN YD OIQ 80Q TYS IR 0l
2@ QIOFIRIER &R |

2006 YD QI8 IN@ QI Q A
QIFIRIER OGR |

Q09 UYS 019 AR SIAFIRIER
oR6R |

@R QAR A4 660 IF|

HAXAXAAXAAXXAXAXXXXXXXX

1

1
KAXXKXAXXXXX XXX XX
i

¥ X X RRAXKKKEK X
P =t = =l
XEAXXXXAXXXX XXX XX XX

(1) (i) (iii)
A9 QPR IR QA1 6TRER AFIR QIS 4,
aRRLR RAEE | F6F)IS FIRIG 6@6I0 OR ?
(A) (i) and (ii) QIR OF AQEQ KA
(B) (iii) QTR OF 2R @GR
() (i) A OF AN AR
(D) QY AP AR OF AN AR

Conducting
ring

QUEAID TR60 RS, L6 AAG 9L 6291 T6Q
66154 YURIPIR PRAEA FQYE 66 6! A
@l
(A)
(B)
(©)
(D)

Q_100000 O

eNSIQal

QFIeRN

Q946 U0QLR 689 AIE
@8 @ o2 629 AIF|
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1L,

12.

13.

14.

A circular coil is entering a magnetic field
as shown. What is the direction of induced
current ?

XXX X X XX
XVX X X X
XX X X X

X X X X X X X

(A) Clockwise
(B) Anti Clockwise
(C) No induced current

(D) Both clockwise and anti clockwise

An air bubble inside water will behave

"as:

(A) Concave lens (B) Convex lens

(C) Plane mirror (D) Glass slab
Formation of virtual image is possible in :
(A) Plane mirror

(B) Concave mirror

(C) Convex lens

(D) All the above

What is the molarity of the solution
prepared by dissolving 4 gm of NaOH in
water to form 250 ml solution ?

(A) 1.0m
(B) 02m
(C) 04m
(D) 0.04 m

STS-11-2018-19

11.

12,

13.

14.

66159 QRIGIR RS QAIRIK 688 FRIGR FAFIES
2661 QORI AFINEE 60616 9946 69160 D61 'Sl
620 ?

X X X X X XX
XvX X X X
XX X X X

X X X X X X X

(A) @38Ieel

(B) QIFIQEN

(C) 6@IERA6YRNE g4 696 AR
(D) @2 FSILEN 9Q° QIFIQEl

Al Ge6Q &Rl Q1Y 6N Fae @aR 6Qla
aqe?

(A) Q6% 6RQ (B) @Q8R 6AQ
(C) ¥Rl (D) @I ge
2RI PO 606 68QER AR ?

(A) erads

(B) ZQeR @d&l

(C) @an ads

(D) Qe I8

4 §IF NaOH @R6Q Q2196 6213 250 ml 2961
Q8 627 | A QSR FIF| TEJRG! 6@6E 62 7

(A) 1.0 m
(B) 02m
(C) 04m
(D) 0.04 m

A-7



15,

16.

17,

18.

19.

Which of the following is an acid ?
(A) NaOH (B)

(©) Mg (OH),

NH, NO,

(D) B (OH);

Which of the following reactions is
displacement reaction ?

(A) CH,+20, - CO,+2H,0
(B) CryO;+2Al — ALO;+2Cr
(C) 2H,0, - 2H,0+0,

(D) P,+NaOH — PH,+NaHPO,

Which of the following element react with
oxygen to form a compound with high
melting point, which is soluble in water ?

(A) Calcium (B) Carbon

(C) Silicon (D) Iron

Which of the following is main ingredient
of Biogas and CNG ?

(A) Ethyne (B) Propane

(C) Methane (D) Butane

Which one of the following is functional
group of propanone ?
(A) Carboxylic acid (B) Aldehyde

(C) Ketone (D) Alcohol

A-8

15;

16.

17.

18.

19.

RENYE FRIG 6QAG I 2] 266" ?
(A) NaOH (B) NH,NO,
(©) Mg (OH), (D) B (OH),

RONYE 6669 96 9T 9Eag 266 ?

(A) CH,+20, - CO,+2H,0
(B) Cr,O4+2A1 - ALO,+2Cr
(©) 2H,0, - 2H,0+0,

(D) P,+NaOH — PH, + NaHPO,

RENYE 6@dl 6¢IRG AARIR @ IR Kf
6915 @@ aRaie 8% 6£lde 98 @6l gl

PRER QAN |
(A) S4RIen (B) QISR
(C) dReR (D) 2Ree

PERYE 6RE 6506HY 8 CNG @ FH adielR

265" ?
(A) @R (B) 6Y6TR
() fseR (D) Q465R

EYITERIRER AR A FOT @'S1?

(A) QIEIRANR Qe (B) eURGLIRE

(C) @6%IR (D) 2ZRGER

STS-11-2018-19



20.

21.

22:

23.

24.

(© P@)

A free electron at rest which is far away
from the nucleus has energy value :

(A)
(B) Infinite

Zero

(C) —1312 k] mol~!

(D) —54.380 eV.

The by product of soap industry is :
(A) Glycol (B)

(D)

Glucose

(C) Glycerol Ethanol

Reaction of water with aluminium carbide

gives a colourless gas. The gas is :
(A) Acetylene (B) Propene

(C) Propane (D) Methane

The electronic configuration of an atom is
2, 8 which of the following element has
similar chemical properties with it ?

(A) N(@) B) FO

(D) Ar(18)

The isotope of which element is used for
treatment of cancer diseases :

(A) Uranium (B)

(D)

Cobalt

(C) Iodine Chlorine

STS-11-2018-19

20.

21.

22,

23.

24.

AIFERKOIE) L6 Q969 &R JA GERRTAR §IS
Q66D FIIG) 6QET 269 |

GV

(B) 2066

(C) —1312 k] mol~!
(D) —54.380 eV.

AR H6R QORI 6268 001 6268 ?
(A) G (B)
(C) QFLem

GLGG?I@

(D) QAR

ARARAF AIFIRE fR69 ATl 9@ @ F6FD
6@6 oM I8 @69 ?

(A) RR, (B) 699R
(C) 6969R (D) deag

6515 CRFIS]R RERRER, TATRI 6268 2, 8
@l F67)I8 604 6FIRAA AALRR dae @
AFGN GRS ?

(A) N(©) (B)
(C) P (15)

F©)

(D) Ar (18)

AUIALR 6RUTIR TR TIR F6F]D 606 TSR

YRR MRLIQ QUL ?
(A) K6 (B) 6RIQIfR
(C) CUSHGR (D) 6QeR,

A-9



25. Composition of Synthetic gas is
(A) CO+H, (B) C+N,
(C) CO+CH, (D) CO+N,
26. The alloy containing a non-metal is :
(A) Brass (B) Bronze
(C) Steel (D) White metal
27. Organisms which use energy from
inorganic source to prepare food are
called :
(A) Autotrophs
(B) Syntrophs
(C) Chemotrophs
(D) Heterotrophs
28. Orange colour pigments which participate
in photosynthesis indirectly are called :
(A) Carotene
(B) Chlorophyll a
(C) Chlorophyll b
(D) Phycocyanin
29. Which of the following is a
semi- autonomous organelle with genetic
material of its own ?
(A) Nucleus (B) Vacuole
(C) Golgi (D) Chloroplast
A-10

25.

26.

27.

28.

29,

reade GHYa TasR 265 |
(A) CO+H, (B) C+N,
(C) CO+CH, (D) CO+N,
6613 2RIIQ) 2161 FERIG 6208:

(A) @R (B) &

(C) Q<o (D) Q6CR UG

TR d9IdQ 618 6R@ ¢ 96 K9dQl
PRI 62086 -

(A) We
(B) Fgemel
(C) QLB

(D) SRR

EQIT QIPER AR FEEVET QAR QIRILY
A2 RFIR| Qere 9das! & ceaR

(A)
(B) 6QEAUTM <
(C) 6QEATA @
(D) TIR6RI AR

@ERUTR

RERGIe 6Q6 2899 AFRIEA FRA 2RL°AR
QAR el ?

(A) ™8 (B) QUG

(C) R (D) 26 Aee
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30.

31.

a2.

39.

34.

Which acid is present in tamarind pulp ?
(A) Oxalic Acid (B) Acetic Acid
(C) Tartaric Acid (D) Tannic Acid

Under which group are diatoms

included ?

(A) Monera (B) Protista

(C) Plantae (D) Animalia

By whom was dark reaction of

photosynthesis discovered ?
(A) Calvin (B) Hill
(C) Johnson (D) Mitchell

Effect of duration of light period on
flowering is called :

(A)
(B) Photolysis

Phototropism

(C) Photosynthesis

(D) Photoperiodism

Jelly fish is included in which phylum ?
(A) Cnidaria

(B) Mollusca

(C) Echinodermata

(D) Chordata

STS-11-2018-19

30.

3.

32.

33.

34.

608R 060 6aal g e ?

(A) 2RERR B (B) 990R2e
(C) ¢eeRR 2 (D) IR 2
GIRZISE 6GE 65ITIEA 2RES ?

(A) 6EI6AR (B) 600w

(C) Y6 (D) eRAIRE

2UCAIR EFBEI0 ZNRIR TR QIRIFQIR 2ITFS
6e@aMml ?

(A) QIRSA, (B)
C) «AgR (D) Fl66IR,

Q608 TR IO ATEA BICRIRIANN TNLEG,
Q12! QRIAN, 6121 6268

(A) ZIRIRIRE
(B) ZRRQS @R IR
(C) eeRIa 65|86l

(D) e6Ra @IRe!l

6@ FIR 6a6l J96R 28D ?
(A) AR
(B) @6AIR
(©) @9aq

(D) 6FQ@$



33,

36.

37.

38.

What is the Chemical nature of Chitin ?
(A) Protein

(B) Lipid

(C) Glycoprotein

(D) Carbohydrate

How many ova are produced from

50 primary oocyte ?
(A) 50 (B) 100
(C) 200 (D) 300

Which hormone is present in the urine of
pregnant women ?

(A) ADH
(B) CGH
(C) FSH

(D) ICSH

Who started Appiko movement in 1983 ?
(A) Sundarlal Bahuguna

(B) Amrita Devi

(C) Medha Patkar

(D) Pandurang Hegde

A-12

35.

36.

37.

38.

FIREAA QARG G Q12
(A) 9829

(B) mag

(C) GYRERI6Re

(D) 6409

507 glefa A€ 6QI186 6R661F GI¢] 9§
6LImela ?

(A) 50 (B) 100
(C) 200 (D) 300

FEIRE1 RIIA FIE6R 66 2REFIR QR2IN ?

(A) ADH (464)
(B) CGH (3@49%)
(C) FSH (9er4Q4e)

(D) ICSH (IR Q9 9e)

1983 68 @4 2IT6RI ACKIRE AR @AM ?

(A) YROAIA g8l

(B) 266I6Qe1
(C) 6FRI TUTRR
(D) QOGT 6266¢
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39.

40.

41.

Which of the following statements is

correct ?
(A) Cockroaches respire by gills.

(B) Ian Wilmut was awarded Nobel
prize in 2010 for IVF.

©
(D)

Hepatitis-B is infected by water.

White leghorn lays highest number
of eggs per year.

Which of the following cell organelles is
non-membranous ?

(A) Mitochondria (B) Ribosomes
(C) Golgi (D) Lysosomes

What is the sum of

P

1 + 1 + 5 i e :
1x2 2x3 3x4 7 99x100

STS-11-2018-19

39.

40

41.

P67 606 a0 O/ ?

(A) 290d GIR QIO AT AR F64 |

(B) Q2R QARFIS 2010 6 IVF Tin 6RI69R
PRIQ ARE6M |

(C) 624158 - B ARQIAI °aFe 24|

(D) 646 snoed §ae! 29R6a AQOIQ 28

28| 6amelN |

R66]S 6a6 6618 2atal SRRLIR 266" ?

(A) FlessIade (B) &6QIeAQ

(C) 6%IRG (D) RA6ARF

1 4 L - L +.t L
1x2 2x3 3x4 99x100

G 6@60 ?

99

(A) oo OQAR

99
B) o0 W

100
€ 9 0908

D) % o arie
D) 5

A-13



42,

43.

44.

45.

46.

What is the ascending order of the surds

02,93, %1 7
(A) ¥Y4,93,3%2 (B
© 2,93,% (D)

Vs, P2, B
3,4, 2

If 5*=3x3 2x-8=225 then what is the
value of x ?

A) 3 (B 2 (© 5 (D) 4

If  (5x2+14x+2)2— (4x2-5x+7)2 is
divided by x?+x+1, then the quotient is
'q" and the remainder is ‘r’, what are ‘q’
and ‘v’ ?

(A) q=x2+9x-5, r=0

(B) q=9(x>+19x—5), r=0

(C) q=x24+9x-5, r=1

(D) q=9(x2+19x-5), r=1

The speed of a boat in still water is
8 km/hour. It takes 5 hours to cover
15 km upstream and 22 km downstream,
then what is the speed of the stream in
km per hour ?

(A) 3 (B 5 (© 4 @O 7

An aeroplane would take one hour less for
a journey of 1200 km if it increases its usual
speed by 100 km/hr. What is its usual
speed ?

(A) 100 km/hr (B)
(C) 300 km/hr.

200 km/hr.
(D) 400 km/hr.

A-14

42,

43.

44.

45.

46.

32, 3, Y2 UAREA LHIFRIFA QF QF
6QGS ?

(A) V4,933,322 (B
© 2,%43,% (D

Ve, 32,93
%3, %4, 2

9@ 5%~ 3x3 2~8=225 g4, 666Q r Q FlR

6066 ?
(A) 3 (B 2 (O 5 (D) 4

99 (5x2+14x+2)2— (4x2-5x+7)2 @
’+x+1 QoI QI RAUGER, NUATH ‘q’ G
QISIEES T’ 24, 6669 q B'r 6766 ?

(A) gq=x2+9x-5, r=0
(B) q=9(x2+19x—5), r=0
(©) q=x*+9x-5,r=1 |
(D) q=9(x2+19x—5), r=1

@ 6rlala 9o aIieq Q8196 696 8 @.A|
6QI0% U@ 6900 gEqREa 15 @.8 8 6g6a
ZRARER 22 .81 Jelq 6616 5 AR YA B,

666Q 64I0Q WQIYE 661 6@66 @.6. ?

(A3 (®B 5 (© 4 (D 7

98 9@ QOIRIRIR 6I'A AR 665G A9 96
100 @.91 9QIa 64, 6669 1200 @.8 Al AAQ!
e 1 1 DY G| I RIGE | 6660 AEIRIRIGA

WRIYE VUG 6961 6@6© ?
(A) 100 &.8 (B) 200 &.fF
(C) 300 &.8 (D) 400 &.8
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e

47.

48.

49.

Rakesh has ¥ ‘x" more than Mohan and
they together have a total of ¥ “y’ . Which
of the following represents the number of
rupees that Rakesh has ?

+
o) I ® V3
© 3% (D) 2y-x

Taxi fare in a city is as follows: for the first
kilometre the fare is ¥ 8.00 and for the
subsequent distance it is ¥ 5.00 per km.
Taking the total fare for covering a distance
of ‘x’ km as ¥ ‘y’ which of the following is
the equation that connects x” and “y’ ?

(A) 5x+y+3=0  (B) 5x—y+3=0

(C) 5x+y—-3=0 (D) S5x~g§~0=0

The areas of a square and a rectangle are
equal. If the side of the square is 12 cm
and the difference between the length and
breadth of rectangle is 7 cm, then what is
the perimeter of the rectangle ?

(A) 25cm (B) 50 cm

(C) 75cm (D) 112 cm

STS-11-2018-19

48.

49.

47.

QUSRS TALIER 66126 0I6) ‘¥’ &I B 2R 9°
69 QRREIFA ST Ay | AFNYE FrIQ6RER
QUEREIR SRIG Y14 ?

@ LZ ® -3
© 3= (D) 2y-x

96 Je06% Ui 96l 628 gan §.8 9
Z 8.00 8 C0QE Q06! e &.8. g6 T 5.00 |
26 26aF a0eel Qe v’ @.0. Al §Ig 96
'y QY 666@ AFY 6Q6E x' 8 'y’ IS
RS 629 ?

(A) 5x+y+3=0  (B) 5x—y+3=0

(C) b5x+y—3=0 (D) 5x—y—3=0

U@ Q01696 9e° 9Q 2N Se0 69eTR AR |
QeI6Bea 61TY Q26 69dY 12 62.0 w@°
PIAO6TEN 604 8 gga aIday 7 6.8 666Q
2106 6800 IO 6Q6E ?

(A) 25628 (B) 50628
(C) 7562.8 (D) 112 628
A-15



50. If’m’ times the m™" term of an A.P. is equal
to the 'n’ times of the n'" term of it, then
what is the (m +n)t term of the A.P. ?
(A) 0 (B) 1
© 2 (D) 3

51. How many 3-digit numbers are divisible
by 77?

(A) 124 (B) 128
(©) 120 (D) 126

52. If cosech—sinf =1, sech—cosd=m, then
what is the value of Pm? (12+m?+3) ?
(A) 1 (B) -1
(© 0 (D) 2

53. Ranjan purchased 120 reams of paper at
< 80.00 per ream. He spent T 280.00 on
transportation, paid octroi-tax at the rate
of 40 paise per ream and spent ¥ 72.00 as
the labour charge. If he want to get a profit
of 8%, at what price should he sell the
paper per ream ?

(A) T 86.00 (B) T 87.48
(C) T 88.62 (D) ¥ 90.00
o
54. What is the value of S0 —25in"0 ?
2c0s>8—cosd
(A) cotb (B) tané
(C) sech (D) cosech
A-16

50.

1.

52.

53.

54.

9@ 9@ A.P. Q m 6F1 909 m g¢], IQIR n OF]
999 n g6l AL AR 24, 666Q 6B AP. @
m +n 61 907 6@66 ?

(A) 0 (B) 1

© 2 (D) 3

6QERIT OF 2 AT e 7 QoI FRURY ?

(A) 124 (B) 128

(© 120 (D) 126

£Q cosech —sind=1, sech—cosd=m g,
666 Pm? (I2+m? +3) @ flie 6@60 ?

(A) 1 (B) -1

© o (D) 2

AURR, QA g& T 80.00 @AEA 120 A QTR
@éINl | GIE 916! QIPE6R T 280.00 ¢1d QR 99°
AR 00 QIR F| 96 40 IR TARER 6GRI
8 qfq T 72.00 AQR 6QRI QF 96 6066
QIFEQ Y RITR OF FEMA 62 8% MIA TR ?

(A) T 86.00 (B) T 87.48
(C) T 88.62 (D) ¥ 90.00
Hob 26170 o A1 6ER?
2cos”0—cosb

(A) cotb (B) tan®
(C) sech (D) cosech

STS-11-2018-19



‘@}d@

55. A number is to be chosen at random from | 55. ©& =3, =2, —1,0, 1, 2, 3 el FlQe FlI46)

among the numbers -3, -2, -1, 01,2, Q! 6515 el QﬁQIGi 629 | ol LixeQl
3. What is the probability for the modulus MR IREIFNR 2 Olg) @F| 6210 AU
of the number chosen to be less than 2 ? 6060 ?

5 3 | 5 3
(a) > ® = (A > ® =
C E D l C 3 D l
© > O) > © D)

56. What is the difference between the mode | 56. @f] Q€N YSEB CLHIRRIR CAZA B FRIA

and the median of the data contained in FRIYEA DR 6R6E ?

the table below ?

x| 5[6]7[8]9]10] | x|5|6]7[8]9]10
f18f12]18[13] 7|3 fl8l12[18]13| 7|3

a4 3 ® 2 © 1 (D) O A 3 @B 2 © 1. OB 0

Vol

57. How many spherical bullets of 2 cm | 57. 26@.@1@&1@@@&*@&][@99}?@%@99@% \I\h

W

diameter can be made out of a metallic 6Q2J0) 2 62.81 I D 6QEEIR 63l ?JIQ@G\ Q_,j
cube, each edge measuring 22 cm by o G2R KAUYIR AR ?
melting and recasting ? | Tak 22 RIG 22@8 4"—(
g g ? emas— Llh /\j\d
£/ v
(A) 5324 (B) 5262 (A) 5324 B) 5262 A
©) 2622 (D) 2541 (C) 2622 (D) 2541

58. Two nonintersecting circles have 15 cm | 58. Q@G 266EAT @A MIAT 6268 15 6.8 G

and 9 cm as their radii. If their centres are 96Q.511 IR 6RLQS FRIERA QG 30 6271
30 cm apart, what is the length of their 626/, 69 QA QR o BTG 641G 1R ARIQE]
transverse common tangent ? ea 6T 6a66 ?

(A) 12 cm (B) 15 cm (A) 12 6Q.9. (B) 15 6<.§.
(C) 18 cm (D) 21 cm (C) 18 6Q.9. (D) 2164.4.
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59.

60.

¢

61.

PQ is a chord of length 8 cm of a circle of
radius 5 cm. The tangents at P and Q
intersect at a point T. What is the length
of TP ?

(a) 5 em ®) o om
20 22
© Fm @) 5 m

A and B started a business with initial
investments in the ratio 14 : 15. The
investment of A continued for the whole
year where as after some time B withdrew
one third of his investment. If the profit at
the end of the year was shared between A
and B in the ratio 21 : 20, then after what
time did B withdraw a part of his
investment ?

(A) 6 months 7 months

(B)

(C) 8 months (D) 9 months

Tripartite or Triple Alliance was concluded
among which countries ?

(A) Germany, Italy, France
(B) Germany, Austria, Japan
Germany, Austria, Italy

Italy, England, France

59.

60.

61.

56.8 QUAE T9Y 9@ Q@0 PQ @YQ 656l
86Q.81 P4e° Q 0I6Q &Rl UWia QG 99q T
Ol6Q 68C @08 | TP @ 696 6@66 ?

10 15
(A) — 62.8 (B) — 6.8
3
20 . 2
C) — 6a.d. D) — 6.8
3 3

A 8B 14 : 15 2QUIRER FIRA SI01R IRE 9@
RS 2 Q6R| A Q FRNe eI
2CNQEE 2/Ql Y6 B MU ZIAR @B A1,
R 6" ARIAR I8 QOIS QlQ camll oF
651866 @ QIR 6F1IS' ARG 21 : 20 AQAISER
Q1§ 523, 6669 AL BIGKI0 6R6E AR I6Q
B 6I'Q FIRAIAG 9@ 2°61 QIQ 60@ Ml ?

(A) 6 € (B) 7€l

8 ¢lId

(©) (D) 9 €<

QUSe g9 6@Q 60996 q 6pR AVAE
621R8mI ?

(A) QFe, QORI TIQ
(B) @da, 282, qiae
(C) @i, 282, QIR

(D) SR RS, TIQ
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62.

63.

64.

65.

Who was known as “CZar, the Liberator” ?
(A) CZar Alexander I
(B) CZar Nicholas I

(©)

(D)

CZar Alexander II

CZar Alexander III

Which is the most significant body of the
UN.O?

(A) General Assembly

(B) Security Council

(C) UNESCO

(D)

International Court of Justice

The head quarter of the League of Nations
was situated at :

(A) Geneva (B) Rome

(C) Versailles (D) New York

The immediate cause of the 2" world war
was :

(A) Rise of Dictatorship

(B) Hitler’s assault upon Poland

(C) Hitlers's good bye to the league of

nations

(D) Treaty of Versailles
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62.

63.

64.

65.

@4 'R0 ABIR!" IPER TIRPE ?
(A) @9 ZEAKRISIQ RF
(B) @9 A6RIMIY RFl

(C) @I9 2CRIRISIA 9%

@lo) EleRaISIo N &

Ane FIETAR 901G JRead Bisk 666F ?

AT I
(B) @Aeldel 9A8E
(C) Q6RsS

2Iealen elaIRg

‘A0l 2 6R9RY” A FSHIRG 6RA0IER 2eQe
Blml-

(A) 6@6RG (B) 6auel

(C) ediam (D) AYa

Qo1 PYYRD CRIR RIS /'S1 AR -

(A) (@Rele0 Q2R
(B) 2oRa=a 62mIS Sans!

(©) MeATEAIRGE BTRaTa B2aRITR

(D) ediam @

A-19



66.

67.

68.

When did Non-Aligned movement
begin ?

(A) After first world war
(B) After second world war

(C) During cold war

(D) After Balkan war

In which direction the world system led
after the disintegrations of Russia ?

(A) Towards Supremacy of U.S.A.
(B) Towards Communism
(C) Towards Capitalism

(D) Towards Globalization

Who led the Non cooperation movement
in Odisha ?

(A) Madhu Sudan Das

(B) Maharaja
Gajapati

Krushna Chandra

(C) Gopabandhu Das

(D) Hare krushna Mahatab

A-20

66.

67.

68.

601 FAET TCRIRR 6@ER 2N 62IQAM ?

(A) QOFIBYYS T6Q
(B) Q61a 3¢S a6a
(C) ¢IeR S FrRISA

(D) QRAIR e 64

Q20 FRDRNE V6Q A 6RE QPG
FRIRAMI ?

(A) 2UARRIR GRIAY DFER
(B) QIFHRIQ F6Q
(C) Y&QIedg6a

(D) @661 @08 Be6a

BEOIER AALELG AERIRAN 6] @4
6RRE6A ?

(A) FRIGER QY

(B) FRIARI QY] IR0E

(C) 661geQ QI

(D) 2698 FRGIQ
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69.

70.

71,

v 5

Who referead first Mahatma Gandhi as the
“Father of the Nation” ?

(A) Pandit Nehru
(B) Netaji Subash
(C) C. Rajagopal chari

(D) Sardar Patel

Who headed the first congress ministry in
Odisha in 1937 ?

(A) Harekrushna Mahatab
(B) Krushna Chandra Gajapati
(C) Binayak Acharya

(D) Biswanath Das

The province of Bihar and Odisha was
formed in the year :

(A) 1912 AD (B) 1936 AD

(C) 1942 AD (D) 1947 AD

Who among the following was the pioneer
of the “Indian” nuclear energy program ?

(A) Dr. Vikram Sarabhai
(B) Dr. Santi Swarup Bhatnagar
(C) Dr. Homi Bhabha

(D) Dr. AP.J. Abdul Kalam
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69.

70.

73,

72.

"flels del” QIesa FRIF AIeg @4 galsa
2SHITE KRZ6M ?

(A) ©86 60625
(B) 6AOIRI YR
(C) @98 U@ 6ANAR I

(D) QIR TR

1937 601 634166 YelF @692 FRIFISRA 6RER
F46RRE6M ?

(A) 260QE FREIQ
(B) QYCR IRCE
(C) @RAR I
(D) QgRRIQQ

e

9210 8GSl QY 66 YIS cQlR8mI ?

(A) 1912 Qe (B) 1936 ¢1Qg|

(C) 1942 ¢idgl (D) 1947 1l

F66I8 AU @4 ‘RIS AR ID
aldiara” asavsl g6m ?

(A) ©.0qF LR
(B) . 6I5 A0 QBRI
(©) @.6218 Ul

(D) @.4.0.6Q. 2QEM QIMIF|



73.

74.

75;

If the location of the antipode of a place is
20°5; 94°W, what is the location of the
place itself ?

(A) 20°N; 86°E

(B) 20°N; 94°E

(C) 20°S; 94°E

(D) 70°S; 86°E

Which among the following islands in
India is different from the other three in
terms of its location ?

(A) Baratang (B) Katchal
(C) Kavaratti (D) Rutland

In which of the following areas of India is
radial pattern of drainage noticed ?

(A) The Amarkantak Plateau

(B) The Aravalli Mountains

(C) The Malwa Plateau

(D) The Satpura Hills

A-22

73.

74.

75.

6@161A AR gETIR DR 2996 20° @861; 94°
03 6LRIRZER OB YA 8QY6 @'6162Q ?

(A) 20° Qa9 86° G&
(B) 20° QQ; 94° Q&
(C) 20° @36); 94° Y&

(D) 70° 9F6); 86° Q&

2eg6 QE6RISIE) AR F6FD 6aa QIR
ARGERITO0IG &R ?

(A) QQeIer (B) QUSIR

(cj @ISR (D) QERIS

QANEA F6FID 6Q6 ALRER RINRE @RIal
AU TORBE £9 7

(A) 2FORLR FIRGH
(B) QIR SLAIR)
(C) fIRe Alrgd

(D) OYR S6EEN
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76.

77.

78.

Which of the following groups of trees

found in India contain boreal plants
only ?

(A) Birch; Rosewood; Pine; Oak

(B) Juniper; Pine; Birch; Silver Fir
(C) Sheesham; Teak; Sal; Rosewood
(D) Teak; Pine; Rosewood; Birch

Select the group of Bird Sanctuaries only
among the following.

(A) Chilika,

Vedanthangal

Bandipur, Periyar,

(B) Chilika, Kalimer, Kumarakom,
Vedanthangal

(©)

Chilika, Kalimer, Kumarakom,
Wainad

(D) Chilika, Kalimer, Periyar, Wainad

With which of the following rivers is the
Tungabhadra dam project linked ?

(A) The Godavari
(B) The Kaveri
(C) The Krishna

(D) The Narmada
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76.

77.

78.

QNEER 6QITIRZR F6FID QB AR FRIG)
6RA060 6ROR 6NN AGE Q&S ?

(A) Qla; 60I9eQ; daR; 6@

(B) QAU0; dIRR; AIF; IREATR

(C) & SIGRR; EIR; 6ARRE,

(D) $IGRIR; dieR; 6QIRae; AIE

R6F]9 FRIG) 689R TR ZRAUIGSEH AFe] I8 |

(A) GRS, FIRIR, ARG, SRRIRISIA

(B) oGl ARG, GAINERIF, ElRIEm

(C) TREI, GRFR, GAINERIA, GRRIe

(D) SR&, ARFR, 69RRIS, GRAIE

P60 606 FQ1 AL QFACl PR 6TIRR!
AHee ?

(A) 6lQIRSY
(B) l6Qql
© <
(D) @l

A-23



79.

80.

Consider the following statements about
the Ladakh plateau located in the North
Western part of India and identify the
correct answer from below :

(a) Itisa cold desert

(b) The Indus river flows through itina
deep gorge

(c) Fresh water lakes are prominently
noticed in the area

(A) Both the statements (a) and (b) are
correct

(B) Both the statements (b) and (c) are
correct

(C) Both the statements (a) and (c) are
correct

(D) All the three statements are correct

Which of the following places was
considered as the “Mica Capital of India”
in the past though its mica production has
declined now ?

(A) Bhilwara (B) Giridih

(C) Kodarma (D) Nellore

A-24

79.

80.

QIReR QRA-08F diFsn 2ol AIRIS FAIRYA
ARG ACNYE ABYRR TR @4 Q12! Fiig).
0R a0t Qg ?

(a) @l 9@ fOR FAQ@F

(b) 2l FRIEER IY A1 IR TN TISER
JoEe 6268

(c) IR IALREA FRIO FRA LFIR FEFIV RIS
S9N

(A) 692 (a) 8 (b) @B 0R

(B) Q9% (b) 8 (c) @8 O]

(C) Q9% (a) 8 (c) @@ 0

(D) FIYEERIRAIR 0B 0]

QEAFIR 29 AYeR ARSI A6]) REFS 6aa!

PG g9 “QUeq 2 ARURT" TAEH
PER0R 6202M ?

(A) R (B) Gl

(C) 6aIedl (D) 6A6RIQ
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81.

82.

83.

Which of the following pairs of places and
the energy produced therein is incorrectly
matched ?

(A) Madhapur - Solar energy
(B)  Gulf of Kutch - Tidal energy
(C) Manikaran - Wind energy

(D) Puga - Geothermal energy

For the cultivation of which of the
following crops are the conditions of high
temperature, plenty of sunshine, small
amount of rainfall and irrigation facility
most favourable ?
(A) Coffee (B) Cotton
(C) Jute (D) Tea

Which among the following railways does
pass through quite undulating terrain ?

(A) The Konkan Railways
(B) The North-East Frontier Railways

(C) The South-East Frontier Railways

(D) The West Central Railways

STS-11-2018-19

81.

82.

83.

g 8 620160 AYDTE 62080 89 F6FIS
6AIGER FIIG) 6QEE OF RIFER AGE Q6L ?

(A) ARG - 6410 516
(B) @€ QUG - Q2R 1S
(C) f8iad-er 6o

(D) ol ageYal - 6 - QIO S

28 QIOAIl, gea YUIIAas), 9T TAFISIR
Q8ae 8 AREICR Al LD 606 ' TARTR

QI8 Qi AQOI5) ARRM ?
(A) (B) @dl
(C) 6816 (D) @

F6EID FrIG 606 6aRTe F65IT NS QA
QP00 600 ARSE ?

(A) a6 6aR0e
(B) QR-ge JFlIS 6ancel
(C) Q8896 @K1 candel

(D) ORF-6RK1A6aRe



84.

85.

Which of the following iron and steel
plants is different from the other three in
terms of the time period of its
establishment ?

(A) Bhilai
(B) Bokaro
(C) Rourkela

(D) Vishakhapatnam

Religious Minorities in India have been
given special protection under the
constitution by the :

(A) Fundamental Rights

(B) Directives Principle of state policy
(C) Fundamental Duties

(D) None of the above

86. Which Article of Indian constitution
provides for Right to Education ?
(A) Article 19 (B) Article 22
(C) Article 21(A) (D) Article 21
A-26

84,

85.

86.

gesIRin @86 R6F)D 664 ML G QIR
RAGIRIT 2R F6RIP0IQ) & ?

(A) @RR
(B) 6QIQI6Q!
(C) URREHR
SIS

(D)

QUG 2UFITIE TPE A YRR IR AAITR
ol RRUEQ FIRIQID TOR 62ARB

(A) 69Ra 20l

(B) QI Q66 FAFREY FEIRIEH

6411RG AEleY AARIER

(©)

(D) 99Q FRIQ 6065 Q6L

dg19a10 Hfe aaer RIS aaIE
gYEM ?
(A) 19 (B) al|u 22

(C) aQl 21(A) (D) Qi 21
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87. Who has the power to elect the President

88.

89.

90.

of India ?
(A) Elected members of Parliament

(B) All elected members of Parliament
and elected members of Legislative
Assemblies.

(C) Elected members of Legislative
Assemblies

(D) All members of Parliament and

members of Legislative Assemblies

From which of the following constitutions
the concept of Directive Principles of state

policy has been borrowed ?
(A) Ireland (B) America
(C) Switzerland (D) China

Under which Article of the Constitution,
The Parliament can make law on the
subjects of state list ?

(A) Article 249  (B)
(D)

Article 250
(C) Article 356 Article 252

Which of the following is not a function of
the Prime minister ?

(A)

(B) To appoint ministers

To preside over cabinet meeting

(C) Toactasa link between the President
and the Council of Ministers

(D) To act as the leader of the Lok Sabha
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87.

88.

89.

90.

AR AT FIPR aGe! AR IR SFE)
e ?

= e

(A) WRITE Iy

(B) 2YeQ A9 HIPe ey 8 NIAINIR
FAPe IRy

— =

(C) Y RURLAIN AP ARY

(D) LU0 1Y ALY G RUIAARIA Y AF)R

PENGIe 6aa ARG AT FEAGIARS A6
ASIDARE ?

(A) SRS (B) el6F@al

C) LARARIS (D) oI

ARIRG 66! IS QLN AR IR SIRGIQS
I IAAEA ZIAR YEAR G TAINEE ?

(A) el 249 (B) aliQl 250
(C) el 356 (D) QU 252
6R6I0 RUIRFRIRA @I KEE ?

(A) QTR ERONER ZRITE! KRR
(B) FRIFIAG FYD @R

(C) AUIYE 66aG-FIR1TATE FRIEA AFIRG
QS QR

(D) 6AIRINIR 6P VIR QKGR RIRES!
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91.

92.

93.

Who can amend the Indian Constitution ?
(A) President

(B) Prime Minister

(C) Supreme Court

None of the above

(D)

What happens when there is disagreement
between the two chambers of the Indian
Parliament regarding constitutional
Amendments Bill ?

The bill may be returned to Lok
Sabha

(B) The bill may be sent to the President

(C) Death of the Bill

None of the above

To grow multiple crops in the same land
is called Multiple Cropping. It is possible
with :

(A) Application of HYV seeds.

(B) Application of chemical fertilizers.

(C) Awvailability of well developed
irrigation system.

(D) Increase in area of production.

A-28

91.

92,

93.

QISE ARG FI LETRIG FATITER ?
(A) Q=R

(B) QleFal

(C) Q6PN

(D) QQ FRIG 6QGE Q6L

@'61 24, 69606067 ARG T6EIR TOI
FUL6Q AAND A°AQ FRIEA F16 ARy
6Qelad ?

(A) 6RIRIAAIG TO0I 6TRRIACIER

(B) QIN06 ARC] COITIRIEH
(C) T0IQ ZBT6E

(D) 9Q FRIQ) 606E Q6L

9@ AdS 9q RRR N AP KRR
QRIA S BFIR QRITIN| 921 RS 24 :

(A) 28R ARVA FLAR gELT

(B) QA ARG YEBIG!

(C) a7e FAIRA AREICH MY AU

(D) €N AYSRA OAAR @F
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94.

95.

96.

We need knowledge and enterprise to be
able to put together land, labour, physical
capital and produce an output this is
called :

(A) Fixe factor
(B) Variable factor
(C) Human capital

(D) Financial capital

Disguised unemployment means :

(A) Worker are unemployed in some
seasons.

(B) Worker’s capacity is underutilized.

(C) Some worker marginal productivity
is zero.

(D) Workers are willing to work but not
getting jobs.

Which among the following is a
non-renewable resource ?

(A) Ground water (B) Forest

(C) Air (D) Minerals
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94. A Y, 96, 6W16R Y8 19 A% 24 AR

95,

96.

A0QIQ BF1 6201 TR IR 8 6RINA SR
@0), 12Iq @'61 @RI ?

(A) Qa1g9&

(B) CRReRI Y

€) flee g

(D) QRS

8QERSN 69RIN @ 21 :

(A) GPRFI6R 6a6eR ATUN6R 6R6RIRSIR
8 69015 926

(B) §Fiaq e86Iq argd 3Rsasl |

(C) 6@6eR GFiaaa IRF QYRR §IS SRY
sQIReld |

(D) 9F& @IdY @A RER, @8 AIF
ARAIRIB |

AEMEIE FRIYG) 6866 MRS 6LIGH AR
Q6< :

(A) QOR e (B) @&A
C) <] (D) ¢&ie gl
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97.

98.

99.

Banks charge a higher interest rate on loan
than what they offer on

(B)
(D) Sellers

(A) Credits Buyers

(C) Deposits

Investment made by MNCs is called :

(A)
(B)
©
(D)

Internal investment
Foreign trade
Foreign investment

None of these

Where is National Consumer Disputes
Redressal Commission is located ?

(B)
(D)

(A) Lucknow New Delhi

(C) Chennai Mumbai

100. Japan invested most part of its resources

in the developmenit of :
(A) Financial resource
Human resource

Physical resource

National resource

-000-

97.

98.

99.

100.

Qe _ 6asl Q8 QU6R AT
QRIEIG A4S KGRIRAIB |

(A) AR (B) 6@@!

(C) @fl (D) Q6Qe!

QLA QAR QIR 62R8Q FERHR @Sl
QRIBI?

2RRERE
6R6a%a QI&IRY
cR60dIa FERE

(A)
(B)
(©)
(D) 420 6RNETT QL

A1 Q06EEIB] AR gERXIR BIEKG 6RQ0IER
20 ?

(A) a6l (B) A2IORY

(C) 699Ia (D) fAR

@IUR6% 2ERIE AR QIRIA RIS HAES A
FAURMI ?

(A) Q919 AR
(B)
©
(D) 9R6a @R

AR Im

cEla@ AR

-00o0-
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